MAC 1114 EXAM THREE FALL-2016
(10 points) Find the exact value of

—3 sin(—20°) sec(70°)
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(10 points) Find the equation of the function which has the following graph. Indicate the
amplitude, period, and phase shift .
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MAC 1114 EXAM THREE FALL-2016

(25 points)

(a) (10 points) Verify the identity

sin(a + B)
cos cos 3
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(b) (15 points) Verify the identity
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MAC 1114 EXAM THREE
(20 points)

(a) (10 points) Find the exact value of cos?(15°) — sin®(15°)

FarLi-2016
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(b) (10 points) Find the exact value of sm(75°)
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- (5 points) What is the difference between “Verlfylng an Identity” and “Solving an Equation”
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MAC 1114 EXAM THREE FALL-2016
Eﬁj (15 points)

(a) (5 points) Find the exact value of cos(cos™(—3))
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(b) (10 points) Find the exact value of tan(gill”l(—%)
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MAC 1114 EXAM THREE

FALL-2016
(10 points) Find the exact value of

B.cos
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(15 points) Solve the equation over the interval [0, 27)
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